- i - P -
1 9:30 WERFYOR—ILIZT AF—L x

2 9:40 | B1 WERYCR—ILIZT Ir x | B2

3 9:50 | A3 WERYOR—ILIZT BF—L x | A4

4 10:00 | B3 FuRXRyIo5—1 x | B4

5 10:10 | A2 FyPZ—A x | A3

6 1020 | B2 BER/ A —X x | B3

7 10:30 | A1 WERYOR—ILIZT AF—L x | A4

8 10:40 | BT WERFYDOR—ILYST Ir x | B4

9 10:50 Al WERYOR—ILIST AF—L x | A3

10 | 11:00 | Bi WERYDR—ILIST Ir x | B3

11 11:10 | A2 FyP5—A x | A4

12 | 11:20 | B2 BBk D —X x | B4

13 | 11:30 1 R —F A (B4
14 | 11:40 2 REBA—F AV BFE
15 | 1150 | 3 REr—F AV BEREDH
16 | 1200 | 4 REb—T AV BEREEDOH
17 | 1210 | 5 1-FEE (10m—11n
18 | 1220 | 6 =&
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